Flexsteel Style## >

1327-19PH

Factory Stylett -

KME.899

Date updated -

12/26/2023

Reference Picture

Part Description

Supplier Part#

Model Number

Spec

Flexsteel Part#

Power Switch 01.58.07192 DL-SK-018-03 Switch Input 29V L3271219
29V 5A Max 800N,
L3274125
Headrest Motor 01.58.05295 KDPT010-139 stroke 110mm,
3000018886
speed 12mm/s
Headrest Mechanism 01.51.030453 WHO026-8 W580mm L3271619
Extension 01.58.02072 353# 29V-2A-L1350mm L3274319
D50xD59xH40
Plastic Leg 01.55.08064 n/a XDoIXRATMM 13279219

PP




Cut&sew in 009-42

Brackets/Connector 01.25.12114 n/a Connector Bracket & 13272819
Locker with Bolts 01.50.01151 Bolts: 6x20mm
Back/Seat
ac / ea n/a n/a C&S In Milk KUC&S
Cut&sew in NL6210
S —————
Back/Seat
ac / ea n/a n/a C&S In Gray KUC&S
Cut&sew in NL6213
———————
Back/Seat
ack/Sea n/a n/a c&s KUC&S




Flexsteel Style# -

1327-23PH

Factory Style# -

Date updated -

12/26/2023

Reference Picture

Part Description

Supplier Part#

Model Number

Spec

Flexsteel Part#

Power Switch 01.58.07192 DL-SK-018-03 Switch input 29V L3271219
2
9V 5A Max 800N, 13274119
Headrest Motor 01.58.050040 KDPT010-152 stroke 82mm,
3000024643
speed 12mm/s
Headrest Mechanism 01.51.030451 WHO026-11 W660mm L3271623
Extension Cord 01.58.02073 355# 29V-2A-L1500mm L3274323
D50xD59xH40
Plastic Leg 01.55.08064 n/a XEooXRATMM 13279219

PP




Brackets/C t 01.25.12114
rackets/Connector n/a Bolts: 6x20mm 13272819
Locker with Bolts 01.50.01151
- Back/Seat
ack/Sea n/a n/a C&S In Milk KUC&S
Cut&sew in NL6210
- Back/Seat
| K
Cut&sew in NL6213 n/a n/a C&S In Gray UC&S
L "
] 3 Back/Seat
ack/sea n/a n/a C&S KUC&S

Cut&sew in 009-42




Flexsteel Style## >

1327-25PH

Factory Stylett -

Date updated -

12/26/2023

Reference Picture

Part Description

Supplier Part#

Model Number

Spec

Flexsteel Part#

Power Switch 01.58.07192 DL-SK-018-03 Switch Input 29V L3271219
29V 5A M N
Headrest Motor 01.58.05295 KDPT010-139 S.:trike 12)(():1(:: ' L3274125
o ’ 3000018886
speed 12mm/s
4 Y
m Headrest Mechanism 01.51.030453 WHO026-8 W580mm L3271619
k.
Extension 01.58.02072 353# 29V-2A-L1350mm L3274319
D50xD59xH40
Plastic Leg 01.55.08064 n/a XEooxnavmm 13279219

PP




Brackets/Connector 01.25.12114 n/a Connector Bracket & 13272819
Locker with Bolts 01.50.01151 Bolts: 6x20mm
02.02.010751
Wood Legs w/Bolts, 01.50.01031 Bolts: 8x45mm
Washers, T n/a ’ L3279150
white elides 01.50.05008 Washers: 8mm
8 01.55.03023
Back/Seat
Cut&sew in NL6210 n/a n/a C&S In Milk KUC&S
(749-11)
Back/Seat
Cut&sew in NL6213 n/a n/a C&S In Gray KUC&S
(749-01)
Back/Seat
Cut&sew in U630130 n/a n/a C&S KUC&S

(009-42)




Flexsteel Style## >

1327-26PH

Factory Stylett -

Date updated -

12/16/2023

Reference Picture

Part Description

Supplier Part#

Model Number

Spec

Flexsteel Part#

Power Switch 01.58.07192 DL-SK-018-03 Switch Input 29V L3271219
29V 5A Max 800N,
Headrest Motor 01.58.05295 KDPT010-139 stroke 110mm, 13274125
3000018886
speed 12mm/s
Headrest Mechanism 01.51.030453 WHO026-8 W580mm L3271619
Extension 01.58.02072 353# 29V-2A-L1350mm L3274319
D50xD59xH40
Plastic Leg 01.55.08064 n/a XDoIXRATMM 13279219

PP




Brackets/Connector 01.25.12114 Connector Bracket &
. n/a L3272819
Locker with Bolts 01.50.01151 Bolts: 6x20mm
02.02.010751
Wood Legs w/Bolts, 01.50.01031 Bolts: 8x45mm
Wash e ) L32791
ashers, 01.50.05008 n/a Washers: 8mm 3279150
white glides
01.55.03023
Back/Seat
Cut&sew in NL6210 n/a n/a C&S In Milk KUC&S
(749-11)
Back/Seat
Cut&sew in NL6213 n/a n/a C&S In Gray KUC&S
(749-01)
Back/Seat
Cut&sew in U630130 n/a n/a C&S KUC&S

(009-42)




Flexsteel Style#t >

1327-50PH

Factory Stylett -

KME.899

Date updated -

12/26/2023

Reference Picture

Part Description

Supplier Part#

Model Number

Spec

Flexsteel Part#

Transformer

01.58.02076

KDDYOO8F

Input: AC 100-240V
50/60Hz 2.4A
Output: 29V 2A sustained,
4A with 10% duty cycle

L8282160

Power Switch

01.58.070005

DL-SK-179-19

USB output 5V-Max3A,
Switch input 29V,
L1500mm

L3271250

Base Motor

01.58.05294

KDYJT018-543

29V 5A Max 1000N,
stroke 297mm,
speed 40mm/s

L327BM50

Headrest Motor

01.58.05222

KDPT010-101

29V 5A Max 800N,
stroke 110mm,
speed 12mm/s

L3274150

Headrest Mechanism

01.51.030452

WHO026-2

W410mm

L327HD50




Mechanism 01.51.030377 K5120 L539.8mm L327H1550
Charging Port 01.58.07168 1544 29V-2A-L500mm L8284162
_1®
KD Connector between 01.51.04805 n/a Steel, 001-1 ©/ 10324150
back and seat 01.51.04806 Steel, 001-2 (L)
02.02.010751
Wood Legs w/Bolts,
01.50.01031 Bolts: 8x45mm
washers, n/a L3279150
white elides 01.50.05008 Washers: 8mm
& 01.55.03023
01.55.08056
Plastic Legs w/Bolts n/a Bolts: 6x30mm L3279250
01.50.01023
Back/A Seat
ack/Arm/Sea n/a n/a C&S In Milk KUC&S

Cut&sew in NL6210




Back/Arm/Seat
Cut&sew in NL6213

n/a

n/a

C&S In Gray

KUC&S

Back/Arm/Seat
Cut&sew in 009-42

n/a

n/a

C&S In Gray

KUC&S




Flexsteel Style#t >

1327-57PH

Factory Stylet -

KME.899

Date updated -

12/26/2023

Reference Picture

Part Description

Supplier Part#

Model Number

Spec

Flexsteel Part#

Input: AC 100-240V
50/60Hz 2.4A

Transformer 01.58.02076 KDDYOO8F L8282160
Output: 29V 2A sustained,
4A with 10% duty cycle
. USB output 5V-Max3A,
Power Switch 01.58.070005 DL-SK-179-19 L3271250
Werswi Switch input 29V, L1500mm
29V 5A Max 1000N,
Base Motor 01.58.05294 KDYJT018-543 stroke 297mm, L327BM50
speed 40mm/s
29V 5A Max 800N,
Headrest Motor 01.58.05222 KDPT010-101 stroke 110mm, L3274150
speed 12mm/s
Headrest 01.51.030453 WH026-8 W580mm 13271619

Mechanism




01.50.01023

Mechanism 01.51.030376 K5120 L708mm L327H1557
Charging Port 01.58.07168 1544 29V-2A-L500mm L8284162
Extension Cord 01.58.02078 364# 29V-2A-L1100mm L3274357
_1®
KD Connector between 01.51.04805 n/a Steel, 001-1 ©/ 10324150
back and seat 01.51.04806 Steel, 001-2 (L)
02.02.010751
Wood Legs w/Bolts,
01.50.01031 Bolts: 8x45mm
Washers, n/a L3279150
white elides 01.50.05008 Washers: 8mm
8 01.55.03023
01.55.08056
Plastic Legs w/Bolts n/a Bolts: 6x30mm L3279250




Brackets/C t 01.25.12114
rackets/Connector n/a Bolts: 6x20mm 13272819
Locker with bolts 01.50.01151
Back/A Seat
ack/Arm/Sea n/a n/a C&S In Milk KUC&S
Cut&sew in NL6210
Back/Arm/Seat
| K
Cut&sew in NLE213 n/a n/a C&S In Gray UC&S
Back/A Seat
ack/Arm/Sea n/a n/a C&S In Gray KUC&S

Cut&sew in 009-42




Flexsteel Style## >

1327-58PH

Factory Stylett -

KME.899

Date updated -

12/26/2023

Reference Picture

Part Description

Supplier Part#

Model Number

Spec

Flexsteel Part#

Input: AC 100-240V 50/60Hz
2.4A Output: 29V 2A

Transformer 01.58.02076 KDDYOOS8F . 18282160
sustained,
4A with 10% duty cycle
Power Switch 01.58.070005 DL-SK-179-19 USB output 5V-Max3A, 13271250
Switch input 29V, L1500mm
29V 5A Max 1000N,
Base Motor 01.58.05294 KDYJT018-543 stroke 297mm, L327BM50
speed 40mm/s
29V 5A Max 800N,
Headrest Motor 01.58.05222 KDPT010-101 stroke 110mm, L3274150
speed 12mm/s
Headrest Mechanism 01.51.030453 WHO026-8 W580mm L3271619




Mechanism 01.51.030376 K5120 L708mm L327H1557

Charging Port 01.58.07168 1544 29V-2A-L500mm L8284162

Extention Cord 01.58.02078 364# 29V-2A-L1100mm L3274357

KD Connector between

01.51.04805

Steel, 001-1 ©/

n/a L0324150
back and seat 01.51.04806 / Steel, 001-2 (L)
02.02.010751
Wood | Bolt 01.50.01031 Bolts:8x45
00 engv/ o' S, n/a olts:8x45mm 13279150
washers, white glides 01.50.05008 Washers: 8mm
01.55.03023
01.55.08056
Plastic Legs w/Bolts n/a Bolts: 6x30mm L3279250

01.50.01023




Brackets/C t 01.25.12114
rackets/Connector n/a Bolts: 6x20mm 13272819
Locker with bolts 01.50.01151
Back/Arm/Seat
C&S In Milk KUC&S
Cut&sew in NL6210 n/a n/a n i
Back/A Seat
ack/ r‘m/ ea n/a n/a C&S In Gray KUC&S
Cut&sew in NL6213
Back/A Seat
ack/Arm/Sea n/a n/a c&s KUC&S

Cut&sew in 009-42




Flexsteel Style#t >

1327-59PH

Factory Stylet -

KME.899

Date updated -

12/26/2023

Reference Picture

Part Description

Supplier Part#

Model Number

Spec

Flexsteel Part#

Power Switch 01.58.07054 KDH032-302 Switch input 29V L3271259
29V 5A Max 1000N,
Base Motor 01.58.05294 KDYJT018-543 stroke 297mm, L327BM50
speed 40mm/s
29V 5A Max 800N,
Headrest Motor 01.58.05222 KDPT010-101 stroke 110mm, L3274150
speed 12mm/s
Headrest Mechanism 01.51.030453 WHO026-8 W580mm L3271619
Mechanism 01.51.030376 K5120 L708mm L327H1557




Cut&sew in NL6213

Extention Cord 01.58.02072 353# 29V-2A-L1350mm L3274319
1@
KD Connector between 01.51.04805 n/a Steel, 001-1 ©/ 10324150
back and seat 01.51.04806 Steel, 001-2 (L)
01.55.08056
Plastic Legs w/Bolts n/a Bolts: 6x30mm L3279250
01.50.01023
Brackets/C t 01.25.12114
rackets/Connector n/a Bolts: 6x20mm 13272819
Locker with Bolts 01.50.01151
Back/Seat
ac / ca n/a n/a C&S In Milk KUC&S
Cut&sew in NL6210
—
Back/Seat
ack/Sea n/a n/a C&S In Gray KUC&S




Back/Seat
Cut&sew in 009-42

n/a

n/a

C&S

KUC&S




Flexsteel Style## ->

1327-72

Factory Stylet -

KME.899

Date updated ->

12/26/2023

Reference Picture

Part Description

Supplier Part#

Model Number

Spec

Flexsteel Part#

Extension Cord 01.58.02073 3554 29V-2A-L1500mm 13274323
Console Insert 01.55.10042 TC-A-02 Plastic, 10413264
22 H126xW268xL312mm
o
USB and Outlets 01.58.04018 TC-5-03 5V-2A-L3000mm L759US64
Hinge For Console Lid 01.51.04792 n/a Steel L8283164
Stainless steel,
Cup Holder 01.52.06014 n/a ainiess stee LV798864

90x75mm




D50xD59xH40mm

Plastic Leg 01.55.08064 n/a o 13279219
Brackets/C t 01.25.12114
rackets/Connector n/a Bolts: 6x20mm 13272819
Locker with Bolts 01.50.01151
"""" Back/Consol
ack/Console n/a n/a C&S In MILK KUC&S
Cut&sew in NL6210
Back/Consol
ack/Console n/a n/a C&S In GRAY KUC&S
Cut&sew in NL6213
Back/Consol
ack/Console n/a n/a C&S In GRAY KUC&S

Cut&sew in 009-42




